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What 1z the walue thhe resistance, B, in 0, ¢
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What 1z the walue of the resistance, B, in £, ¢
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What 15 the walue of the resistance, B, in C3, 7

-15.20%
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What iz the walue of the resistance, B, in 03, 7
6Q,90,160,4Q
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What 15 the gain of the CCVE, A, n WA, 7

27 Q 30.00¥

Voltmet
g R o
_|_
o z-w Ia A%

What iz the gain of the CCCE, A, in AFA 7

10 -39.85 &

AN f\/\/ Jy—

4+
_Jaav Wa A*Va

Fan !
et

What iz the gain of the VCCE, A, in A7

12 0 300 514 %
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What iz the gain of the VCVE, A, in VIV 7
4VIA,5AIA, 4 AV, 3VIV



	  
	 
	 
	 

